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6th Semester Examination

PHYSICS (Honours)

Paper : C 13-T
[Electromagnetic Theory]
[CBCS]
Full Marks : 40 - Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Answer any five questions from Q.1-Q.-8.
2x5=10

1. The space-time dependence of the electric field of a
~ linearly polarized light in free space is given by

E=E, cos(cot—kz)f, where E, o dnd k are the

amplitude, the angular frequency and the wave vector,
_respectively, Find the time average energy density
associated with the electric field.

2. How is the wave vector of an incident electromagnetic
wave modified for the propagation of the wave through
a conducting medium? What is its consequence?

3. What do you mean by gauge transformation?
PT.O.
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